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3. KEREAERR

() <% 3 FE BT (RER) KERERR _ —
LU IR i *LﬁAi’ & N = = E'Zi’;]
B H 4H220 | 55138 [ 64108 | 7HI5H 2:75155 9H148 | 10A7H 11)511?5 2578 [ TAZ08 [ 2898 [ 3A8E | £%iE , | FMfEC &N~ BX >".$“B%%?E{;iﬁ
PH 8.4 7.2 74 7.2 7.4 75 7.3 8.0 7.8 7.7 7.7 75 6.5~85 0% 76 |C 72 ~ 84 ) 16
4+ | BOD 1.0 1.0 0.8 4l 0.8 4l <1 1.0 <05 1.1 16 1.0 2 0% 07 ¢ <05 ~ 16 )| 09
SS 11.0 6.6 47 2.3 35 2.8 2.3 3.2 2.6 29 45 49 25 0% 43 O 23 ~ 11 )| 43
% | DO 12.0 11.0 9.4 9.5 9.0 10.0 10.0 13.0 11 14 12 13.0 75 0% 11 (9 ~ 14 ) 11
KGR 2200 1400 13000 2300 8000 3000 13000 400 800 1300 24000 80 1000 75% 5800 [( 80 ~ 24000 )| 5800
B | " UREYE ( ~ )
Iz/—ILE8 ( ~ )
1 | ( ~ )
BT ( ~ )
1E | AR ( ~ )
BRI ( ~ )
B | AL ( ~ )
( ~ )
HESH L 0.003 ( ~ )
STV R ( ~ )
AU - ( ~ )
D 0.01 ( ~ )
(iiZ=PN 0.05 ( ~ )
fitx 0.01 ( ~ )
7KER 0.0005 ( ~ )
= [ 7ILFILKER THEH ( ~ )
PCB T ( ~ )
M)yOnTFLY 0.03 ( ~ )
Fh7900IFLY 0.01 ( ~ )
L BIRZIE=EE D 0.02 ( ~ )
A ES 0.002 ( ~ )
1, 2—/AA14Y 0.004 ( ~ )
1, 1=%"9ORIfLY 0.02 ( ~ )
g | YA—1, 2—Y0A1FLY 0.04 ( ~ )
1,1, 1—M)y0AI%Y 1 ( ~ )
1, 1, 2—M)ynAT4Y 0.006 ( ~ )
1, 3—=Y9aR7'EA"Yy 0.002 ( ~ )
FITL4 0.006 ( ~ )
PESD 0.003 ( ~ )
FARUAILD 0.02 ( ~ )
_EY 0.01 ( ~ )
Lo 0.01 ( ~ )
WEBRUERBREER 10 ( ~ )
IvEk 0.8 ( ~ )
IF5% 1 ( ~ )
1.4-Y 454y 0.05 ( ~ )
£EF 16 2 1.4 16 1.1 1.4 16 15 19 18 1.7 1.7 16 JC 110 ~ 2 ) 1se
EDP% 0.04 0.046 0.029 0.032 0.023 0.029 0.024 0.026 0.017 0.032 0.023 0.026 003 | 0017 ~ 0046 )| 003
EAA REmEER <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <005 JC <005 ~ <005 )| <0.05
KIBEL A KIBEL A B KIBEL A B FEA7A> LS &
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